Tech Algebra Name: \Z'e/'/\

1
A2: Linear Functions Review )

1, Create a graph and write a rule. 4. Graphtheline y = —Zr 44
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2. Write a rule for the following tables: : 7 . e
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,‘y 8 | 13 | 18 | 28 | 3;—‘{-\—3-)(

\3 %3-"\’ SZ-)< 6. Find the slope.

3. Grap e equation. v =4x — 7
a. Between (—6,—13) and (10,11).
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Sweatshirts cost $7.35 each, and we sell

8. A brand new print-to-shirt printer costs $13,000.
them for $40.

Write an eguation that models this situation.

a.

W= ~\20004 42 bS <

Solve for the break-even point.

C.

3TV gestevex

-
-

\"%o20
21.6¢

d. Create a graph of this situation.

9. GRAPH eich line below then WRITE the aquation of each line described below.

and y-intercept is 3.

-1
5

Slope is

a.

b. Slope of -2 and goes through (=3, 8).

Ny

Goes through (—6,—13) and (10,11).

C.




